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k|:tfljtcfo /sd 

Aoo lzif{s 

cf=a=@)&$÷)&% 

sf] k|:tfljtJoo /sd 

@=!=!=@ g]kfn ;/sf/ af6 k|fKtcg'bfg  s=rfn' vr{ 

 s= laQLo ;dflgs/0fcg'bfg 15,00,00,000. kbflwsf/Lx?sf] kfl/>lds tyf ;'ljwf  

      v= ;zt{ cg'bfg 9,30,02,000. sd{rf/L kfl/>lds tyf ;'lawf 1,96,21,000. 

  sfof{no ;+rfng ;DaGwLvr{ 1,24,53,000. 

  sfo{qmdvr{ 3,40,50,000. 

  dd{t ;Def/ vr{ 

   k/fdz{ tyfcGo ;]jfz'Ns 

   cg'udg,d'Nofª\g / e|d0fvr{ 26,00,000. 

  C0fdf Aofh e'QmfgL 

   cGt/ :yfgLo tx ljlQo x:tfGt/0f÷cg'bfg 

   lalaw vr{ 15,76,000. 

  v=k'lhut vr{ 2,97,00,000. 

  hUufvl/b  

  ejglgdf{0f ÷vl/b 2,00,00,000. 

  kmlg{r/ 15,00,000. 

  ;af/L ;fwg 70,00,000. 

  d]zLg/L cf}hf/ 12,00,000. 

  ;fa{hlgs lgdf{0f sfo{ 5,00,00,000. 

  k'lhut cg';Gwfgtyf k/fdz{ 

   u=;zt{ cg'bfg 9,30,02,000. 

  z;t{ cg'bfg -sfo{qmddftf]lsP adf]lhd_ 

 s'n hDdf 24,30,02,000. s'n hDdf -s_ -v_ -u_ sf] 24,30,02,000. 
 

 

 

 

 

 

 

 


